10.

11.

12.

13.

14.

Tun 3 Ne 89

Haiigure 3HaueHne BbIpaKeHUs

Tun 3 Ne 90

Haiinure 3HaueHnE BhIpaKEHUS 7

Tun 3 Ne 91

Haiinure 3HaYeHNE BBIpAKCHUS

Tun 3 Ne 92

Haiigure 3HaueHne BbIpaKeHUs

Tun 3 Ne 93

Haiinurte 3HaYeHNE BRIpAKECHUS

Tun 3 Ne 94

Haiinure 3HaueHUE BBIpaKEHUS

Tun 3 Ne 95

Haiinnre 3HaYeHNE BRIpAKCHUS

Tun 3 Ne 96

Haiinure 3Ha4eHNE BBIpAKCHUS

Tun 3 Ne 97

Haiinnre 3HaYeHNE BRIpAKCHUS

Tun 3 Ne 98

Haiinnre 3HaYeHNE BBIPAKCHUS:

Tun 3 Ne 99

Haiinure 3HaYeHNE BBIpAXKEHUS

Tum 3 Ne 420

Haiinure 3Ha4eHNE BBIpaKCHUS

Tun 3 Ne 421

Haiinure 3HaYeHUE BBIpaXEHU ———

Tun 3 Ne 422

Haiinnre 3HaYeHNE BRIpaKCHUS

16x — 25y

m—ﬁ,ecnn Vx+y=3.

16

a—a

4
—npu a= —12.
a

(a® —25a) (aj—i_a15> npu a = —39.
(x—3):%npn x=-21.

(%—é) :%npn a=1,6, b=v2-1.
ﬁﬁh'(f;ih*%b) npu a=8V3+7, b=13-3.

64a® + 81c2
T2ac

8a

9¢

L1 @ 7.7
—+— | -—mupua=7,7.
5a 7a) 4 ™OTh

9¢ — 64a
8a

npua=78,c=21.

4x — 25y

3 —4
NV VY, ecmn X+ /Yy

ngxy . %,npn x=5,y="5
@ '1208 npu a = 2.

(ij mpi @ =2

(a’)?

e npu a = 5.
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https://math9_300-gve.sdamgia.ru/problem?id=89
https://math9_300-gve.sdamgia.ru/problem?id=90
https://math9_300-gve.sdamgia.ru/problem?id=91
https://math9_300-gve.sdamgia.ru/problem?id=92
https://math9_300-gve.sdamgia.ru/problem?id=93
https://math9_300-gve.sdamgia.ru/problem?id=94
https://math9_300-gve.sdamgia.ru/problem?id=95
https://math9_300-gve.sdamgia.ru/problem?id=96
https://math9_300-gve.sdamgia.ru/problem?id=97
https://math9_300-gve.sdamgia.ru/problem?id=98
https://math9_300-gve.sdamgia.ru/problem?id=99
https://math9_300-gve.sdamgia.ru/problem?id=420
https://math9_300-gve.sdamgia.ru/problem?id=421
https://math9_300-gve.sdamgia.ru/problem?id=422

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

2/2

Tun 3 Ne 425

Haiinure 3HaYeHNE BBIPAXKCHUS

Tun 3 Ne 427

Haiinure 3HaueHne BRIpOKCHUS ~——=—

Tum 3 Ne 428

Haﬁnme 3HAYCHUEC BbIPAXKCHUS

Tum 3 Ne 431

Haiinure 3HaYeHUE BBIPAXKCHUS

Tun 3 Ne 434

HaiinnTte 3HAYEHNE BBIPAXKECHNASA ———

Tun 3 Ne 435

Haiinure 3HaueHne BRIpOKCHUS ~——

Tum 3 Ne 436

HaﬁﬂHTe 3HAYCHUEC BbIPAXKCHUS

Tun 3 Ne 437

Haiigure 3HaueHUE BBIPAKEHUS

Tun 3 Ne 440

Haﬁ]:[I/ITe 3HA4YCHUEC BbIPAXKCHUS

Tum 3 Ne 441

HaﬁﬂHTe 3HAYCHUEC BBIPAXKCHUS

Tum 3 Ne 443

Haiigure 3nauenue BbIpaX€HUA

Tun 3 Ne 447

HaiinnTte 3HaYCHNE BRIPAKCHUS

M5
a

(lg opu a = 3.
a

6\3

(alz npu a =4
a

210 412

ab

3\4
npu a = 3.
a® P

12 46

npu a = 3.
al?
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https://math9_300-gve.sdamgia.ru/problem?id=425
https://math9_300-gve.sdamgia.ru/problem?id=427
https://math9_300-gve.sdamgia.ru/problem?id=428
https://math9_300-gve.sdamgia.ru/problem?id=431
https://math9_300-gve.sdamgia.ru/problem?id=434
https://math9_300-gve.sdamgia.ru/problem?id=435
https://math9_300-gve.sdamgia.ru/problem?id=436
https://math9_300-gve.sdamgia.ru/problem?id=437
https://math9_300-gve.sdamgia.ru/problem?id=440
https://math9_300-gve.sdamgia.ru/problem?id=441
https://math9_300-gve.sdamgia.ru/problem?id=443
https://math9_300-gve.sdamgia.ru/problem?id=447

